Year 2 Multiplication - Maths Day 5 	Reasoning			5.6.2020  
Try your best with these questions based on our multiplication work this week. Remember to use resources, scrap paper, etc to help you – do not expect to do it all in your head! The GD (gold star) questions are challenging so if they are too hard, do not worry. 
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7a. Using the calculation 3 x 5 = 15,
create related multiplications using the
digit cards below.

Which card cannot be used?
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8b. Oscar has a bag of 75 carrots to share
between the horses and pigs.

All the animals get 5 carrotfs each.

Oscar feeds 7 horses.

o 5

How many pigs can he feed with the
remaining carrots? Explain your answer.

& Y





image7.png
4a. Match the calculations to the correct
answers.

4b. Match the calculations to the correct
answers.

‘90‘ ‘no‘

‘ n ‘9)(10‘

Write two multiplications to match the
‘odd one out.

Write two multiplications to match the
odd one out.

5a. Josie is solving multiplications.

She says,

10 x 7 is the
sameas 7 x 10

Is she correct? Explain your answer.

W

5b. Yuset is solving multiplications.

He says,

10 x 3is the
same as 6 x 10

Is he correct? Explain your answer.

W
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6a. Blueberries are sold in packs of 10.
Sara has 40 blueberries.

How many packs did she buy?

39900000

It Sara eats 1 pack, how many blueberries
will she have left?

Explain how you know.

g .

6b. Pencils are sold in packs of 10.
Harry has 20 pencils.

How many packs did he buy?

LN

It Harry gives 1 pack fo a friend, how
many pencils will he have left?

Explain how you know.

g
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8a. Jake is solving multiplications.

He says,

Tosolve 14x 10,1
canuse 10x 10
and 4 x 10, then
«add the answers.

Is he correct? Explain your answer.

7

8b. Laura is solving multiplications.

She says,

Tosolve 16 x 10, |
canuse 9 x 10
and 7 x 10, then
«add the answers.

Is she correct? Explain your answer.

7
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4a. There are 2 books in a pack.

Jose says,
Tbought 8 packs so
have 15 bool

15
2|2(2]|2[2|2]2]2

15 he correct? Explain why.

prig

Sa. Imani and Scoft buy stickers for their
collections.

Imani says,

Thave 2 packs
of 10 sfickers.
seoft says,
Thave 7 packs
of 2 stickers.

Who has the most stickers?

w

4. Use the cards below fo complete the
statement. You can use the cards more
than once.

x 2 =

annan

Find 2 possibilies.

g
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7b. There are 2 crayons in a box.

Tina says,
W
5 I have 43 crayons.

—

Is she correct? Explain why.

"

8b. Niamh and Mick count the badges
they own.

Niamh says,

Thave 15 lofs
of 2 badges.
Mick says,
Thave 2 lofs
of 15 badges.

Who has the most badges?

w

9b. Use the cards below fo complete the
statement. You can only use each card
once.

B

b
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Ta. Fill in the missing boxes using the digit | 1b. Fill in the missing boxes using the digit
cards. Use the number track fo help you. | cards. Use the number track to help you.

5(10{15/20|25|30|35|40|45|50|55| 60 5(10|15/20|25|30|35|40|45|50| 55|60

Which card cannot be used? Which card cannot be used?





image4.png
5a. Danny is planting seeds to grow
flowers.

He wants to plant 8 seeds into 5 flower

boxes.
i -

How many seeds with does Danny need?
Explain your answer.

Ty

5b. Lisa is sharing out the glue sticks in her
classroom.

There are 6 tables and each table needs
5 glue sticks.

How many glue sticks will Lisa need?
Explain your answer.

iy .





